MBIRE 2 LS BITER

(2023 )
IR &AR RIBREWELE
[=kva e N =3 r— = (¥2 L;@ﬁi%i@zﬁﬂi}
FMEH | &FNEH | 2FHTE | HE |PUTER B
(FERSEEN 300000.00 300000.00 | 288,800 10 [96.27% 9.63
mE#E s - _
(%) Hrp : HFUBER 0 0
IFEERE 0 0 —
HftRsE 0 0 —
FREAER SERRSERIBIR
R FESS R EEh—RaUE , MEFDERE 8
. EXEFE , RO RBESREESTHRMEESEX
S EEREITE | AREALRA , SRR e 888005
ITENES | W4 ERSRIZRF | REZMEEEE diiae TCe
. R, IERERIRE , A4 LmREERHEFINGEE
RAE.
o E—— - FE T [ | g | PEREDTR
SR migeEgE | | 20 &
[adtusti=(oN [REEIR e =100% G0 20 7
RISGETR Brmpms | > =96% R 10 7
5 o ~100° =T
5
IR
HRREEIEIR B =100% ErN 10 I
Pyt =t
& SOSY GEh =t e >=95% | f{ERA#HR 5 7
BIES: =<2kt sy >=95% KIE(ER 5 7c
R EIEIR RSB EEER AR >=95% = 10 %




o
o

| 100 | 9.63 |




MR LSS BITR

(2023 ££E)

RE &R SR BRE AR SRE
v T ¥ ==1E = =t T' J:iﬁi%iﬁlsz’é;‘l‘f_l
EEE:I:IBF.] Llﬁﬁi%lﬁgﬂlﬁ% *Eﬁg{i Z}J} L
T ey | 2EnT | oE | T 895
FREREEDE 5688.00 5688.00 9,230 10 1162.28% 10
@Eﬁﬁ Eivh « SEETABRER 0 0 _
7T )
reEsEag 0 0 _
HtAS 0 0 _
- TR SRR
B RERER . N R R e, ERE -  mrso—
BiREFEES S ARRAEONS | BENEATIS R RS Bt
AT (RN SR EN RS S ERE SR,  SERTERL.
— =y -_ =y _ = ﬂz}g ;EBU_; VA= ﬁ%}?ﬁ*ﬁ&
O A TS 2
ST AR
423 B>
FehEt RRiEt FEGFEMFERD | 1000 | ommm= | 20 %
Tremss
RIS ERRBABREED | ey | ma | 10 %
= FRFRTTRN AT
%
g
- o
Gysasigr | O PREERIRE | 00 | mE | 10 %
ZFL
SIS s | =100% | R | 10 x
AT
REFBEEFEESE | oo | oop | g -
SeREl




| HEREIER

RSMRHBEEIR

‘ >=95%

TS

10

100

10




MR LSS BITR

(2023 ££[E)
IMB&FR REEFRSEIREE
f=va r g ¥ ==1E 2z =t T' J:iﬁi%iﬁlszﬁfl‘f_l
EEE: |:||3| —.] Llﬁﬁi%lﬁg%lﬁ)% *Eﬁg{i ZD) L
FHITNEE SEMELH | 25NTE | HE | i Bo
FEASEE 4000.00 4000.00 4,000 10 1100.00% 10
BERE | g wemmms 0 0 _
(78)
T HFEERE 0 0 _
Hitbx® 0 0 _
FE A B tR SLFRSERkER
P50/ e rmermpreryarermmyree—— —
~ [EIEERRER , AF4ILEBH. EFMESET = —
ELe mmmpan) A AR, SRFTERk40007t.
_ _ _ _ - FE SCPR REREDHTR
2= = — = \ /E/\
E =R =T BRFERRIES | >=95% FE 20 7
FE205E
45 R RBHR o =100% 5ERk 10 0 7
o 2FE
g
¥R
A T Ea =y = = % B G
HEMERIBIR SERhCh/EFET 100% B 15 7o
BERTEFR
U ETABIR TS =100% =75 15 7
W) BB EEREF
WEEER| RSNSFHEERSIR LA EEE =98% = 10 7
H
J=Sax 100 10




